Sr Questions Answers Choice

1 Fundamental law is

2 Let P(x1, y1) and Q(xp, y2) be two points in the co-ordinate plane. Let d = distance between

Pand Q

3 Question Image |

4 Question Image \

5 Question Image |

6 Question Image |

7 Question Image |

8 Question Image |

9 Question Image \

10 Question Image |

11 Question Image |

12 Question Image |

13 Question Image |

14 Question Image | ?; 12
D.-2

15 Question Image |

16 Question Image |

17 Question Image |

18 Question Image |

19 Question Image |

20 Question Image |

21 Question Image | ’S j )

22 Question Image |

23 Question Image |

24 Question Image |

25 Question Image |

26 Question Image |

27 Question Image |

28 Question Image |

29 Question Image |

30 Question Image |




